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KANGURU DER MATHEMATIK 2022

Level: Ecolier, Grades 3 — 4

3 Point Examples

1. The bee wants to get to the flower. Each arrow indicates a move to one neighbouring
square.

Which path can the bee fly to get to the flower?

Con ong muén dén gan béng hoa. Méi miii tén biéu thj sy di chuyén dén mgt 6 1an can.

Hai con ong c6 thé bay theo dwong nao dé dén dwoc bong hoa?

A)l—=—=111

B ll—=11—

CO)»|—-]—>—

_____________________________________

_____________________________________

D)—=—=1111

E)—=|l—-]]—

2. For every birthday Maria gets as many teddies as she is years old on that day.
For her first birthday she got 1 teddy.

For her second birthday she got 2 teddies and so on.

How many teddies in total has Maria got on the day after her sixth birthday?

Vao méi dip sinh nhdt, Maria nhdn dwoc so gau bong bang sé tudi ciia o dy vdao ngdy do.

Va0 sinh nhdt dau tién cia minh, ¢d dy da nhdn dwoc 1 con gdu bong.

Vo sinh nhdt tht hai ciia minh, ¢d dy ¢6 2 con gau béng, v.v.

Héi Maria di nhdn dwoc tong céng bao nhiéu con gau bong sau sinh nhdt lan thiz sdu cia cd ay?
(A) 19 (B) 20 (C) 21 (D) 22 (E) 23
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3. One of the five coins A, B, C, D or E shall be placed in an empty @

square so that there are exactly two coins in each row and in each

column. Which coin should be moved? O

Pat mét trong nam dong xu A, B, C, D hogc E vao 6 vudng trang

©

OO

sao cho méi hang va mai cét ¢é diing hai dong xu. Héi dong xu nao

duoc di chuyén?

Q@
®

(A) A (B) B ©C (D)D (BE)E

4. Which two numbers can be placed instead of the [ in the calculation 2022 + [] =

2020 + [ | so that it is correct?

Hai sé nao cd thé dat thay cho [ trong phép tinh 2022 + [ = 2020 + [ sao cho diing?
(A)3and5 (B)4and 1 (C)3and 4

(D) 7 and 2 (E) 9and 8
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5. If a laser beam hits a mirror it changes its direction (see small diagram).
Each mirror has mirrored sides on both sides.

At which letter does the laser beam end?

Néu mét chim tia laser cham vao gwong, né sé

? _4\ __________ / __________ \

thay doi hiedng (xem so do nho). | l \,\ .......... / .......... //
Mdi gwong déu cé guong ¢ ca hai mat. (E) E ? 5 :
Hdi chum tia laser két thic ¢ cha cai nao? A B ¢
(A) A (B)B (C)C

D)D  (E)E

6. Kengu jumps on the number line to the right (see diagram).

He first makes one big jump and then two little jumps in a row and keeps repeating the
same thing over and over again.

He starts at 0 and ends at 16. How many jumps does Kengu make in total?

Kengu nhay I1&n vach sé bén phai (xem so do).

Pau tién anh ta thyc hién mér budc nhay 16n, sau dé la hai bwdc nhay nhé lién tiép va
cur lap di lap lai cung mét cach nhay.

Anh dy bat dau tir s6 0 va két thiic ¢ sé 16. Kengu da thuc hién tong céng bao nhiéu

D

lan nhay?
A4 ®7 ©8 (D)9 ()12 | |

0 2 3 4
7. In the diagram on the right two neighbouring squares are never allowed to have the

same number.
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Which puzzle piece has to be placed in the gap so that this rule is—3 12(5/4 2|1
followed? 14|13 /1[3]4
Trong so dé bén phdi, hai 6 vudng canh nhau khdng bao gio diroc phép 215 2/2]1
c6 cling so. g % ToTs g
Mdnh ghép nao dwoc dét vao ché trong dé tuan theo quy tac nay?
ann gnep nao duoc da o lrong de quy ta y 11 3|1 34
4 1 2
(A)1273] B)[3 412]c)[41T3]
2 3
D) B L14](g)[2 114]

8. John uses some building blocks to form a work of art.
What does John see when he looks at his work of art from above?

John si dung mét sé hinh dé tgo thanh mét khai nhur sau.

Haéi John thdy gi khi nhin khai trén tir trén cao xuong?

(O] (o] o o
(A) (B) (C) (D) (E)
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4 Point Examples

9. Five cars are labelled with the numbers 1 to 5. They drive in the direction of the
T -0 63D S0 €
Ndam chiéc 6 t6 dwoc danh sé tir 1 dén 5. Ching chay theo hwdng miii tén.

First the last car overtakes the two cars in front of it.

Then the now second to last car overtakes the two in front of it.

In the end the car that is now in the middle overtakes the two in front of it.

In which order do the cars now drive?

Pau tién xe cudi cing vueot qua 2 xe phia trwéc no.

Sau do, chiéc xe thir hai tinh tir cudi cing virot qua hai chiée xe phia trieéc no.

Cudi clng chiéc xe ¢ giita dd virot qua hai chiéc xe phia truéc no.

Luc nay céac 6 tb chay theo thi tir nao?

(A)1,2,3,4,5

(B)2,1,3,5,4

(C)2,1,5,3,4

(D)3,1,4,2,5

(E)4,1,2,5,3

10. The members of a family of kangaroos are 2, 4, 5, 6, 8 and 10 years old.

Four of them are 22 years old when added together.

How old are the other two kangaroos?

Céc thanh vién cia mét gia dinh chudt ti lan luot 122, 4,5, 6, 8 va 10 tudi.

Bon con trong so chiing ¢é téng céng 22 tudi. : ;
Hdi hai con kangaroo con lgi bao nhiéu tugi? & & % & {
(A)2and8 (B)4and5 O D
(C)5and 8

(D)6 and 8

(E) 6 and 10
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11. Mosif has filled a table with numbers (see diagram).

When he adds the numbers in each row and in each column together, the
result should always be the same. He has however, made a mistake.

In order to get the same result every time he has to change one single
number. Which number does Mosif have to change?

Mosif da dién vao mét bang c&c con sé (xem so do).

Khi anh ta céng cac sé ¢ mai hang va mai cét véi nhau, két qua sé lubn giong nhau.

Tuy nhién, anh dy da pham sai lam.

9 1‘5
31716
41714

Pé ¢é duwoc két qua giong nhau méi lan anh ta phdi thay déi mét s duy nhdt. Mosif

phdi thay déi s6 nao?

(A)1 (B)3

(C) one of the two 4s

(D)5 (E) one of the two 7s

12. Aladdin’s carpet has the shape of a square.

Along each edge there are two rows of dots (see diagram).
The number of points is the same along each edge.

How many dots in total does the carpet have?

Tdam tham cua Aladdin ¢ hinh vudng.

Doc méi canh ¢6 hai hang ddu chdm (xem so do).

Sé lwong cac cham doc theo méi canh la nhir nhau.

Haéi tam tham c6 téng céng bao nhiéu cham?
(A)32  (B)36
(C) 40 (D) 44

(E) 48
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13. In a classroom the children sit in rows.

In each row there are the same amount of children.

In Robert‘s row there are 2 children to the left of him and 3 children to the right of him.
In front of Robert there are 2 rows, behind him just one.

How many children in total are in this class?

Trong lop hoc hoc sinh ngdi thanh hang.

Mdi hang c6 sé lirong hoc sinh nhuwr nhau.

O hang cua Robert ¢6 2 ban ¢ bén trai ban dy va 3 ban ¢ bén phdi ban dy.
Phia truéc Robert ¢6 2 hang, phia sau chi mgt hang.

Hai 16p nay co tong céng bao nhiéu hoc sinh?

(A)8  (B)15
(C)18 (D) 20
(E) 24

14. Johanna folds a piece of paper with the numbers 1 to 36 in half twice (see

diagrams). 1]2]3]4]5]6

19(20(21|22|23|24

. i y . o 7|89 [10]11]12
Johanna gap mgt manh giay c6 cac so tir 1 dén 36 lam doi hai ( 13]14]15(16] 17|18 ) >

lan (xem so do). 25)26]27]28[29[30

31)32|33(34|35|36

Then she stabs a hole through all four layers at the

—

same time (see diagram on the right). Which four numbers does she pierce in doing so?
Sau dé ¢é dy dam mét 16 xuyén qua cd bon 16p cing mér lic (xem so do bén phdi). Héi ¢d dy da

xuyén thing bon sé ndo khi lam nhuw vay?
(A)8,11,26,29  (B) 14, 16, 21, 23
(C) 14, 17, 20, 23

(D) 15, 16, 21, 22

(E) 15, 17, 20, 22
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15. Three football teams are taking part in a tournament.

Each team plays each other team once.

For a win the team scores 3 points, the other team 0 points.

For a draw both teams get 1 point each.
Which number of points is impossible, for any

team to reach at the end of this tournament?
Ba dji béng da dang tham gia mét gidi dau.

Mdi déi ddu véi nhau mét lan.

Poi thang dwoc 3 diém, di con lai 0 diém.

Néu hda, méi déi dwoc 1 diem.

Cdc déi khong thé dat dwoc so diém nao

khi két thic giai dau nay?

(A)1 (B)2 (C)4

(D)5  (B)6

16. Jan sends five postcards to his friends during his holiday.

The card for Michael does not have ducks. -
The card for Clara shows the sun.
The card for Lexi shows a dog.

The card for Heidi shows kangaroos.
The card for Paula shows exactly two animals.
Which card does Jan send to Michael?

Jan guri nam buu thiép cho ban bé trong ky ngh/ ciia anh dy.
Buu thiép danh cho Michael khdng c6 con vit.

Buu thiép danh cho Clara c6 hinh mdt troi.

Buu thiép danh cho Lexi c6 hinh mét con ché.

Buru thiép danh cho Heidi c6 hinh nhizng chi chugt tai.

Buru thiép danh cho Paula cé hai con vit.

Jan i buu thiép nao cho Michael?
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5 Point Examples

17. Wanda chooses some of the following shapes.

She says: “I have chosen exactly 2 grey, 2 big and 2 round shapes.”
What is the minimum number of shapes Wanda has chosen?
Wanda chon mét sé hinh dang sau.

Co noi: “Em da chon dung 2 hinh mau xam, 2 hinh to va 2 hinh tron”.

Sé lwong hinh it nhdt ma Wanda dd chon 1a bao nhiéu? . ij Q
A)2 (B)3 (C)4 (D)5 (B)6 ] A O

18. The little caterpillar m rolls up to go to sleep.

What could it look like then?

Con sau buwom nho m cudn tron dé di ngu.Khi dé né cé thé

tréong nhir thé ndo?

¥ oo BN ool oo NS o WX o o
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19. A pyramid is built from cubes (see diagram).
All cubes have side length 10 cm.
An ant crawls along the line drawn across the pyramid (see diagram).

How long is the path taken by the ant? Ansicht von oben

Mgt Kim tu thdp dirot XAy dung tir céc hinh khéi (xem so dd). ’ | '

Tat ca cac hinh ldp phirong déu c6 canh dai 10 cm.

Mgt con kién bod doc theo dwong vé ngang kim tu thdp (xem so do). |

Con kién di dwoc quéng dwong dai bao nhiéu?
(A) 30 cm (B) 60 cm (C) 70 cm
(D) 80 cm (E) 90 cm

20. A road leads away from each of the six houses (see diagram).

A hexagon showing the roads in the middle is however, missing.

Which hexagons fit in the middle so that one can travel from A to B and to E, but not
to D?

M6t con dwong dan ra khéi méi ngdi nha trong sé sdu ngéi nha (xem so do).

Tuy nhién, hinh luc giac hién thj cdc con dwong ¢ giira bj thiéu.

Hinh luc giac nao vira khit ¢ giita dé c6 thé di tir A dén B va dén E, nhung khéng thé dén D?

(A)land2 (B)land4 (C)land5 : ) 5
& W N
(D) (E) - O

4777 5

10
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21. Ahmed and Sara move from point A in the direction shown with the same speed.

Ahmed walks around the square garden and Sara walks around the rectangular garden.

How many rounds does Ahmed have to walk to meet Sara in point A again for the

first time?

Ahmed va Sara di chuyén tir diém A theo hirdng nhuwe hinh vé Véi cung téc do.

Ahmed di dao quanh khu vieon hinh vuong va Sara di dao quanh khu vieon hinh chzz nht.

Ahmed phdi di b bao nhiéu vong dé gap lai Sara ¢ diém A lan dau
tién?
(A)1 (B) 2 (C)3 )4  (B)S

22. Five girls eat plums.
Laura eats 2 plums more than Sophie.

Bettina eats 3 plums less than Laura.

Clara eats one plum more than Bettina and 3 less than Alice.

Which two of the girls eat the same amount of plums?
Nam co gdi an man.

Laura an nhiéu hon Sophie 2 qua man.

Bettina an it hon Laura 3 qua man.

Clara an nhiéu hon Bettina mét qud mdn va it hon Alice 3 qua.

Hai c6 gdi nao an ciing S6 qud mdan?
(A) Alice and Bettina

(B) Alice and Laura

(C) Alice and Sophie
(D) Clara and Laura
(E) Clara and Sophie

11
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23. The big cube is made up of three different kinds of building blocks (see diagram).
How many of the little white cubes are needed for this big cube?
Khoi ldp phirong 16m dwoc tao thanh tir ba logi khoi Xay dung khdc nhau (xem so do).

Can bao nhiéu hinh ldp phwong nhé mau trdng dé tao nén khéi ldp phirong Ion nay?

(A8 (B)11 (C)13 (D)16 (E)19 j@ @

24. Under cards with the same colour, the same number is =
always found. If the three hidden numbers in one row are

added, one obtains the number to the right of the row. Which —= 1
number is hidden under the black card?

Duréi cac thé ¢ cung mau, ludn tim thdy cung mét sé. Néu —= 26

céng ba sé dn trong mgt hang thi sé duroc sé ¢ bén phai hang.
H6i con s6 ndo dn dudi tam thé den?
(A) 6 (B) 8
(C) 10 (D) 12 (E) 14

12
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